Algebra 2

5.2 Special Binomials

Factor each completely. You can show all work on this WS. Circle or Box your final answer.

1) x*+8
(x + 2)();2 - 2x + 4)

3) 8u° - 125
(2u - 5)(44® + 10u + 25)

5) 192x° + 375
3(4x + 5)(16x% = 20x + 25)

7 375 - 3%
3(5 - x)(25 + 5x + x?)

9) 9v* -1
(3v+1)3v-1)

11) 50x* - 8
2(5x +2)(5x - 2)

Name

Date

2) 216x° +1
(6x +1)(36x% = 6x+ 1)

4) 125 - 274°
(5 - 3u)(25 + 15u + 9u?)

6) 375a° + 192
3(5a + 4)(254% - 20a + 16)

8) 54x° — 128
2(3x - 4)(9x2 + 12x + 16)

10) n* -4
(n‘ + 2)(}1 - 2)

12 12v* -8
3(2v+ 1)(2v - 1)

Period



Find all roots.

13) x> -27=0 14) x*-8=0
, 3+3iV3 3-3iv3 {2, -1+i3,-1-i3]
) - 2
15) 27x> +64=0 16) x*-1=0
4 2+2iV3 2-2i\3 L C1+iN3 “1-i3
3 3 7 3 - 2 - &
17) 27x> +8=0 18) 27x° -8=0
21+iV3 1-iV3 2 <lsiE a-iNE
3 3 ° 3 AN 3 3



Algebra 2

5.2 Grouping

Name

Date Period

Factor each completely. You can show all work on this WS. Circle or Box your final answer.

1) 20n° + 35n* + 161 + 28
(5n% + 4)(4n +7)

3) 240v* + 90v* - 288y — 108
6(51’2 - 6)(8\) + 3)

5) 24xy — 18x + 4ny - 3n
(6x + 11)(4)) - 3)

7) 105ab + 175a + 1685 + 280b>
7(50 +85%)(3b + 5)

9) 21a’c + 35xf +494%f + 15xc
(76:2 + 5x)(3c + 7‘)")

11) 14xy - 20y — 4x + 703>

2(x +5y)(7y - 2)

2) 32x7 +28x% + 24x + 21
(4x% +3)(8x + 7)

4) 7x° - 35x% - 21x + 105
7(x* - 3)(x - 5)

6) Sa’z + Ta*c + 20bz + 28bc
(az - 4b)(5_7 - 7c)

8) 24ab - 18a* - 12b + 9a
3(2a - 1)(4!) - 3([)

10) 4aw” + 30bf2 + 5af * + 24bw?
(a + 6!9)(41-1f2 + 5_)"2)

12) 105xy — 40x — 30x* + 140y
5(3): + 4)(7 V- 2x)



Find all roots.
13) x* - 5x% +5x* - 25x=0

o, 5, /5, -5}

15) 9x% - 36x* - x*+4=0

5 {3_\/5:;'\6,_;:\/5‘

3 3 3

17) 16x% - 4x* +4x-1=0

14) x* -3x*+2x-6=0

3, V2, -iv/2]

16) 4x* - 5x> - 12x*> + 15x =0

{0, % /3, —\/51

18) 15x% + 10x* - 6x -4 =0

T

o 5

&
39



Algebra 2

5.2 Quadratic Form

Name

Date Period

Factor each completely. You can show all work on this WS. Circle or Box your final answer.

D) ut=12-6

(ul - 3)(1{2 + 2)

3) 4a* - 164* - 20
4(6!2 w1 5)

5) it 22x% —80
2(2x? +5)(x* - 8)

7) 5x* +21x2 - 54
(5x% - 9)(x> +6)

9) 6m" - 18m* - 420
G(m2 - 10)(”12 - 7)

11) 8x* +68x% - 120
4(2x? - 3)(x2 + 10)

2) a* +164* + 60
(a.z + 10)({:2 + 6)

4) m* +4m? - 21
(mz + 7)(177.2 - 3)

6) 5x* +21x* +18
(le kS 6)()52 - 3)

8) 5x*-3x*-14
(sz + 7)(};2 - 2)

10) 3x* - 15x* - 72
3(x? - 8)(x* + 3)

12) 9x* - 6x% - 120
3(3,\;3 - 10)(x - 2)(x - 2)

ID: 1



Find all roots.

13) x® - 32x* +256=0 14) x° - 25x" +144 =0
{2 mult. 2, -2 mult. 2, 2i mult. 2, -2i mult. 2} {\/5, _\/E, ,"\Fg,, _,j\/i 2 =294 =
15) 4x8 - 73x* + 144 =0 16) 16x® — 89x* + 100 = 0
2. -3 %% -2, \/E, - \/E, i\rG, _iVe {\5 2, N2, -iN2, \E, ; \E, h/g, s
2 %7 2 2 2 27 2 2
17) 256x° - 160x* +9 =0 18) 15x* +17x* +4=0
V3 A3 i3 W31 o1 2ivs  2ivs i3 i3
§* 8" BT @2 0RD % 5 537 3



